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5
o = 1000

1

3

V) o+ V y; €=V
0
2
05 01
0:25
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(n = 40)

R
x2dx

[a; b
[a; 1

X1 Y1 X2 Y2

++

Xn

[a;b)

Yn



( RIR)

sin(x) = x

sin(x)

x3

+
3!

x5
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++



Ox Oz

Oxz
Ox+y+0z=0 Oxy Ox+ Oy+2z=0
M (Xo; Yo; Zo) PQ
'PQ = (ajb;g

a(x Xp)+ bly yo)+ c(z 2z0)=0
M1(X1;Y1:21)  M2(X2;Y2; 22)
M3(x3;Ys3; 23) M (x;y;2)
MM = (X1 Xy1 VY;z1 2)

! !
MoMy = (X1 X2;¥1 Y2:Z1 22) M3Myp=(X1 X3;¥1 Y321 Z3)

X1 X Y1 Yy 7z z
X1 X2 Y1 Y2 z1 2 =0:
X1 X3 Y1 Y3 Z1 Z3



M (Xo; Yo; Zo) - ax+ by+

cz+d=0
daxg*+ by + czp + de
T2 r R+ R
Oxy
Oxyz
ABCDA B1C1D1 6
AC BC;, 60
AC BCy
ABCD
A AxXAD AyAB A(0;0) B(0;6) C(6;6)
D (6;0)

ABCDA ;B;C1D;
A AXAD AyAB AzAA;
A(0;0;0) B(0;6;0) C(6;6;0) D(6;0;0) A1(0;0;6) B1(0;6;6) C1(6;6;6)
D1(6;0; 6)

AC A(0;0;0)
BC1
AC IM(x;y;z)
BM =(x;y 6;z) BC1=(6;0;6) AC =(6;6;0)
Xy 6 z
6 0 6=0
6 6 O

(0+36z+36(y 6)) (0+36x+0)= 36x+36(y 6)+362z:



36

X y+z

0 0+0 6e
q

12+ ( 1)%+12

6=0;


















